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General knowledge/ mmﬁs 69560335 O b) serving for Government employees and their family
members
1. Which is the nodal agency to implement Ayushman
Bharat Pradhan Mantri Jan Arogya Yojana (PMJAY)? c) providing LED bulbs to BPL families
BOIWIRT® {RTT® Jpes Fog, &R wBRen; d) none of the above

OSJ&C%‘.S&"OSD&(PMJAY) ONTPRIRRPTLY TL2TOR
< © = 2 2=
2 e . QQ, 9 @ R) ATFO JPBTOR Fed AR

. . - W) ATFO JPTTL V. WRT D0 ITBION Ao
a) National medical Commission - 3

b) Medical C il of Indi
) Medical Council of India 2) DO BEVOWRIR DS AR W, NI,

c) National Health authority WTAZF)TD
d) AlIMS ®) HeOIYNYY cPYTR VY
D) TR FTBeon sodeen 5. ‘Kadri lepakshi 1812’ recently seen in the news, is a

variety of which crop?
Q) DRTS® PRS° ST QORAIP

28R THREBY 59892308 ‘38 Semed 18127 CIRT

R) TR0 STRET, TRHTT 8ok IocIWAL?
®) =7, (AlIMS) ajGotton b) Groundnut
2. Umiya Mata temple which was seen in the news | ¢) Rice d) Wheat
recently. located in which state? |
®) B8 W) Sonzd
©8elR HHOHY Frd2BROT YVNCIP TRTD FETWOOR -
o3 mzsécsgzﬁ? R) ©3 Q) BRe)
a) Tamilnadu b) Punjab 6. ‘hallmarking of geld’jewellery’ is associated with
which ‘ministry?
c) Gujarat d)~Bihar ‘
WORER TTNY T [T B3 FPNT CINT
D) SALGTOR ) FOGF ASOHT B WIHIH?
R) MRTS &) 23

a) Ministry of mines

3. who was the first chairperson of The Reserve Bank b) Ministry of Consumer Affairs Food and Public
innovation hub (RBIH)? Distribution

0FTF 08" RReEedn® Z® (RBIH)R Swemo ¢) Ministry of Commerce and industry
BT 03RT>?

d) MSME
a) senapathy Kris Gopalakrishnan

@) N3 F23TOOOD
b) urjit Patel
W) MOFHT IWVTITNH STHIT W) AOTJERIT LITHD

c) Abhijit Banerjee 3OO0
d) Nirmala Sitharaman %) Toede, I 0T FWTOOD
p) o
R) BeTOTE 3T RRCTROFTIT W) NWRFT Teke” &) MSME
R) ORVT RIVE B) QWFOY AeTOTIRD 7. Which institution recently released a report titled

4. ‘Jyothi sanjeevini scheme’ of Karnataka is related to ‘India’s Booming Gig and Platform Economy’?

3TOrLEn R e HOReRR cdeeeE’ BowoRAT, 033 OFOID VWA WRTIT WRONT NNt I,
TYE® ToTET DTTW’ QOW deXFFOD wdaoiasacl VTNRAE
a) serving for Government employees =822

o

Mob:7795959079/ 8884334488 Telegram link :https://t.me/ujwalaacademyblr Instagram ID : ujwala.academy / ujwala_academy_blr

Page no: 1




S @ﬁd&a

T z;awsa-aﬂ

#1133/8, Service Road, Near Attlguppe Metro Station, RPC Layout, Vijayanagara,
p T Bangalore-560040
e KPTCL Z5»w0 § ®eF - 3

a) World Bank b) International Labour Organisation Q 11. find the missing number

c) NITI Aayog d) International Monetary Fund FFBCIRT BOBoHTY, FowWLROWD
Q) @% wplelo ) @o@dm%@oﬁa TONFT TOTUI 50, 49, 46, 40, 30, ?

2) e sAdpen &) @oédm%@oﬁo TOTOA Y a)12 b)15

8. UN World Drug Report 2022 released by c)18 d)25

12. ZIP = 153, ZAP = 129 then ZAT =?

DBRORCH DT BN BTDOLE:, VWK VBNBRROIBI
RHOReS 2, g 2T g ZIP = 153, ZAP = 129 omad ZAT = ?

a) UN drugs control bureau a) 143 D) 142

b) UN drugs and crime bureau c) 141 d) 196

¢) UN Office on Drugs and Crimes 13. Which Comr31|tte.e S recomme!'lda.tlons 'are being
followed for estimating Poverty Line in India?

d) United Nations general assembly
PTSRY WRISE 8@;803:&1:91 LHOTWLN WIRTWEL O350

D) CWVRT® BT, FOWRLS” RIBE B0 _SFITRNETS) SRAOTRRIT?
W) CONXT BT, BB 3BT R BRe a)’Dutt Committee b) Chelliah Committee
) TRTIBBAL DB, 9TTGFNG HedT a%ﬁo:’éojo I| ¢) Ghakravorty Committee dpLakdawala Committee
528cd
Q) TT TS W) REQOR A0S
B) LIFHOFAD DTORHEIT
@ ) BIWE W0 ®) DTWHTTD BN
9. A man Travels at 10 m/s) How'many kilometres will ) o
he cover in 2 hours afid-30 minirtes? 14.Match List'| (Banks) with List Il (Headquarters)
[
22 Fgoso (0 /s BeAgY Bosmtszoams. 2 rotd 30 ;ﬁs:’;(ms“’"%) RERODT ), 9333 (JFew $e3c0)
ORNEY) ST\, $SRERCLITYIBRTITVR? ~
a) 20 b) 30 = 1 el
c) 81 d) 90 A. Allahabad Bank 1. Delhi
10. P and Q complete a piece of work in 8 days and B. Central Bank of India 2. Kolkata
12 days respectively. P started the work left after 2 C. Indian Overseas Bank 3. Mumbai
days. then Q took over and completed the remaining _ _ _
part. find the number of days taken to complete entire D. Punjab National Bank 4. Chennai
work. D. YOTNRT LROT 1. B3z
P53 Q 2080 SOXTR FbRN § QEAW 3y 0. F0BL® 0T SF YOBOIP 2. 309
12 OFRYQ IprorfeeRzes. Poi» 2 ORRY B = ° i
ROLEATF L2 FOBT, BNSReYAT. Fo33 Q wdwy R, QORONT LBACFT L3D0T 3. o
FOTTT, TW2ER0W WOT PATRY, JPHFRRPITT - .
TmES ake fonam, Wrrtavies Inmieon O8N B. TOWL DYHIC® WOT 4. 83y
",s)"O515;305')35')3el BOTOAROWD. A B C D
a) 11 days b) 12 days a) 2 4 3 1
c) 15 days d) 18 days b) 2 3 4 1
Q) 11 OIR D) 12 QIR 0) 4 3 1 2
) 15 a3Indd &) 18 HIND 0 d) 4 1 3 2
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15. The National Song of India was composed by 0O = FENIYNSY @3 T BoBoh FINET YWINTINRY
TBRONTT NT BRPHT?
thrletcla] m%@o&o SRS B003ReEIT
' a) Jupiter b) Mars
a) Rabindranath Tagore
) . c) Saturn d) Venus
b) Bankim Chandra Chatterji
X) D W) JDone
c) Igbal
2) 32 &) 203,
d) Jai Shankar Prasad
19. in which one of the following districts have
Q) TREOTP ERTRET" large reserves of diamond bearing kimberlite been
©) 08 WOT, eI discovered in the recent past?
%) QT 33 IVNFYNLY oI BPonY ¥Iews ATNSY
; SR, BROQT:E S0 B BRG, DY INTR,
®) ¥ Fo3T° T BOTBRODSOINT?
16. California ocean current which flows along the a) Hoshangabad b) Raipur
West Coast of North Americais a
¢) Sambalpur d)/Warangal
YT WOTRT mum BOOWYOH LVTER, TOCINT
ROFPAFCIR AT TR WO R)FTBRCIOTOLRT W) oRoRHT
a) cold current flowing north I | &) \3op e @) @gefe”
b) cold current flowing south 20. which of the following statements are correct?
c) warm current flowing south 1) natural gas occurs in the Gondwana belts.
d) warm current flowing north 2) mica occurs in abundance in Koderma
2) Y30E BOOIR. o Pwew [| '3) Darwar is famous for Petroleum.
o3 d)
0) T8 DT Foms T = 3%’ﬁ§3§)ﬂ‘3§§2 O30 Bewdnes TOON?
PO =
2) ES?AE@% 2O0INZ ?j?éﬂﬁa TE 1) &:ﬁﬁ?ﬁ QO ri.raoz:égm 5&53?1@59 BOTWTHZT.
&) ©IsE TOIT BPNT BT 2) 3RBIRTTY VPRI BeTYIN ORTHIW
O] b2 -~
17. which of the following pairs are correctly matched? 3) eCiE SHnrdobon SHTETAIRNT.
3 2INIPYNLY CInT hpcRokn BOIPN FRoDEINT? a)l b) 2
1) Kapil Dhara Falls Godavari river c)2&3 d) 1&3
2) Jog Falls  Sharavathi River 21. most Northern point of Karnataka
3) Shivanasamudra Falls Kaveri river BTOFWBE WITT B 10
1) 800° 00 HOTZ ARITIRO IO a) Bidar district Basavakalyan
2) dRei moTE 3RS IO b) Bidar district Humnabad
3) HBIIRNG, HOTZ 59O IO c) Bidar district aurad
a)18&2 b)1&3 d) Gulbarga district jewargi
c)28&3 d) All of the above / 593 20z ®) T[T BY WATICRYF W) WTT BY BOTRRT
18. which one of the following planets has largest ) VST BY Boew ®) MoYmeE =g Eemne

number of natural satellites are moons? @ 22. According to 2011 Census the highest population
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found in which of the following districts? O R) MOEIJTE Sead ®) ReIIPYNYY XPPTe AY
2011 S =MoL TzeS B FPNTYINTY O30T LD 26. who is the first Governor General of independent
3 T wRTo, FOWTLITR? India?

a) Bengaluru, Belagavi and Mysore TB0Z, 1RC3T BATY ATTET® BITC® BRT?

b) Bengaluru, Mysore and Belagavi a) C Rajagopalachari b) Warren Hastings

c) Bengaluru, Belagavi and Dharwad c) Lord Dalhousie d) Lord Mountbatten

d) Bengaluru, Belagavi and Tumkur D) . TOWNRACTOUVO W) WTT TBEROT,

@) BonERD, BIMD W) BRAT R) COTE W TP B) IFE [POET RET

W) LBoneR, a’bﬁsmm DB, B 27. IV Anglo - Mysore war happened in which year?
) BONLRD, BIMD B, FoTwoR IV sorpe - 2yxech C3nTR) CIRT IRETY BOP2T?
&) BonYRdM, BIMD B, DIIRI a) 1799 b) 1784

23. the first mass movement started by Mahatma c) 1747 d) 1802

Gandhi was . . " .

28. a fuse'is used inymains electrical supply as a safety
mmme MOROHTT TRTOPAT RAT z.)@as@ dévice. which.one of the following statements about
BTOWRCOTFoTT |.sthéfuse is€orrect?

a) non-cooperation movement | 2.0T0 '{:jaéﬁ SN :»:9323 ;ad:ssf mé’e}éoﬁg Rog T
] : WFTTN WETRMHIT. TR Wi 83 ESNIYNEY o3
b) Quit India Movement Rewdoin DOoIRNE?

¢) salt movement a) itfis connected inyparallel with the main switch

d) Indigo moveraent [| 'B) it is made mainly from the Silver alloys

Q) OTFET, BRI D) YT QPR BYEG ¢) it must have low melting point

R) QL ESI ®) QoRni» BISL d) it must have high resistance
24. The dynasty that built the'most ancient temple in D) TR, WD, Pg&?ﬁ 2= T0033ToN BOTIETSIND
Karnataka

W) BT, BRDITON LYOD WIEREBNRYOT
TIFLTT W03 TR TWEPOOH T DRI Y PG
3) Badami Chalukya - b) Ganga %) am 30 FOMHN BOHIR, BROVTHH
c) Chola d) Kadamba

Q) 9 BT TSTRFDI), BLODTLIER

Q) WOV WOLF ) nomw 29. which of the following electromagnetic radiations

2) By 8) 3Tow has the maximum energy?

25. Lower Mantle and core of earth structure is 82 FINIPYNIY BT QY0 3ecdh QeTroned NOH
separated by which layer? BoHTY BeoNE?

BA0D TURCH TROWST T $RCT* (Se0THRN) iR a) visible light b) infrared rays

ITTROT WeRrRRGN? c) ultraviolet rays d) X rays

a) Moho'’s discontinuity b) Lehman line o) ReeEd B¢ ) eBroy $0rND

c) guttenberg line d) none of the above %) FeTepscd $CpNE @) X — $TNED

Q) BRBRET @&23@545 2) 65@,5@ @356 0 30. What is greenhouse effect?
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TATITN JOFBOTH NOWSeR?

a) Increase in the global temperature

b) Decrease in global temperature

c) Increase in sea water temperature

d) Increase in temperature of rivers and lakes
D) WNET TOTIPITY DY

Q) BPNET TTRWITY AvE

R) BBOTE 0T THBIPITY BeY

Q) SONH D) FBRETTNY ToTBRITY LY
31. match the following.

3 FYNTZYNERY, BROD2.

1) Bonn convention a. biopiracy

2) TRAFFIC b. conservation of migratory

species birds and animals
3) Cartagena protocol c. biosafety protocol

d. Global trade of wild plants
and animals

4) Nagoya protocol

1) o BRT0weS a. 208m¢ ﬁ@p%

2) TRAFFIC b. W03 Zlenne

0

TYH I e

20T
[y

3) FodredTe RpLedeesoe® €.[203 BTTTD

BppLdnezac®

4) SRR Fpetdpesoer d. Bom BFAD =T

TREENY NS HTOT

1 2 3 4
a) b c d a
b) b d C a
c) d b c a
d) c a b b

32. where is a national Centre for disaster
management (NCDM) located?

TOREOD DT/ dRFIFD $eor, (NCDM) 97?2
a) Nagpur b) New Delhi
c) Hyderabad d) Pune

D) T 2) IO
| ———

o

Q ) é@édmmcf R) W

33. Delhi’s education centre which was known as
‘Madarsa-e-Begum’ By whom it was established?

‘DBTT-Q-BeR0’ Q0T IBOROWT BRI 2310
0T, 3T MRATL?

a) Gulbadan Begum b) Maham Anaga
c) Ziaunnisa d) Zeenat Unnisa
R) YT Beno W) DDTO WIN
) IRSISWEBYISD Q) OPEIT YLD

34. Which of the following pair is correctly matched?
33 ISNTRYNYY 03T decRoin FOBRN BRODICERNT?
a) Erisilk : Assam

b) MoongasSilk, : Artinachal Pradesh

¢)'Mulburry silk«: Jharkhand

d) Tussar silk Karnataka

@) 20 6@% : ©ARO
W) DROTP-BH |} wWFoWY T3

) VRO dea?g: 2T0DOF T

®) DWMT Tex : TIFET

35. The Jute Industry in India is mainly concentrated in
PTITY Brows emzszs:p@ maasmﬂ =) %eogc%smﬁd
a) Kerala b) Orissa
c¢) Uttar Pradesh d) West Bengal
Q) evY W) WO
2) Q8T Tes Q) B woree
36. in a p - type semiconductor

P - QBT WTTITS

a) electrons are only carriers

b) holes are only carriers

c) holes are the majority carriers and electrons are the
minority carriers

d) none of the above
Q) BB @eﬁ%ae N JTINTONTD
Q) 3eR[O TOPNE WoBINYINS
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) SO waaxomés TOTINTONT IO, @eﬁﬁwa@mﬁa Q phpleteta 8:93603 aa%& Ty, BRPYT?

OOTOLOE DOTBINTON®D .
» 3 a) Indian Bush lark b) Fulsunghano

Q) eITIPNYY CRTR AY ) o
- - c) vernal hanging parrot  d) Golden headed cisticola

37. everyday human body requires 500mg sodium

because D) POTECOD IT TOFE Q) PLONTITOIR
35008 @nss DeRd 500 Mo AecRoko BenmhId %) SRFe” TONOTT Ne ) AneQy IEE
9 L4 - -0 9 =

D303 RARRSD

a) maintains body temperature mm§ 35 o

b) regulates blood pressure 41. ERt30oR I3 JFRe 4 LLITNYRY, JerT.

HOCIRTT, 02 wI0WO
c) controls body organs
BZW TRTOOTZ
d) none of the above ¥
®) Vo3 Q) B9R
D) BeVT TOTJHPTIT, FO0INFRWET ~ =
) VYRT R)IDYTY,
Q) STRRIB/ID, J0N0SAII ~
42. T.op8e0TRHT0 BT
) BETT LONATTY, JON0TIT

D) OPIRN, TIVTOT W) T.00.23¢0
&) BeITYNYY 0SPPTR VY I
| R) BODTIITONTT, =) PatcifN Tal
38. Aqua regia is a mixture of the following in the ratio

of 1 : 3 by volume 43. Tom, ¥, I, AW {YNW

@Fy, Sed® Q0T TOTPHAME )3 ) wRHITRITY B Q) ATCTETF, $RRIE W) w3WEE F0IPTT

g4NIYnY wposend, %) ZBZETHCIPTT R) DTFFE F0IVTT

|
a) conc. HNGZ &wqne(Hg) D Y A ———— ST

b) conc. HNO®3 &canc. H2S04 50D

) dil. HCI'&#dil. HNO3 2) Bog, ABR 2) IrRsed ATPI
d) none of the above R) Qb W[ ®) SRWH B[O

@) 008 HNO3 & motes 3 HC 45. 3pYTeR T3 IJ e 4 LLITRS, der.

HOCIRTTI, 02 wB0WO
W) mohegd HNO3 & mohes3d H2504

ONPOTTRET e.-odsoda
2) Dwroneeas HCl & Dwroreeas (HNO3r)

Q) DT Q) QTP
®) BeITIYNYY o3PPTR VY
) Qdede ®) TEodew)
39. which one of the following acids is used in Lead »
Storage battery? 46. 398 3RYTHN YT S Bodeens FOosRE ST

Sz Boedens® 00N B2 FNTYNYY 3RS BT[N, TR TRTEOTRY, BROTI

-
WETRMIE? D) TORD TOVEVOT BRYVER

a) hydrochloricacid  b) hydroFlouric acid ) TOVROT TIBRT FRQOWRD

c) sulphuric acid d) sulphurous acid %) TOTE ONY TOBED IRYOBD

-,
D) BBWREREOT ) V) BRWEETROT B B) oo ComFRY, 80T

2) mx%@ﬁf S &) 3%236'56 SR

| 47. 7000 QWORQ Wy 2 Anw” Awh 0w
40. Which is the smallest bird in India? Q
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2) BB w03, @) SYFTNT W3, O ) =z ) [
R) BWTWONT 39, Q) TRAVNT W, R) Ry ®) 380w
48. 3pYTOR B2 IFne 4 VITNERY, JeRT. 56. 3FW TrTRTOPYIT widy, WITNY "oss
- & ) )
BOCIRTTT, 01 WIwO
) 50 2) 52
ATFTE IT: DHRT
2) 54 &) 58
) T3 2) BT
- 57. ‘SOBRRY’ Qo IW o3 Fodn
2) AT &) SneT POTRETHEOIRNTD?
49. 3RYTOT T3 IF e 4 OITACR, JeRT. D) SBT3 FOY Q) NTeRBes F0H

zaommwsad 202 W30WO0
) SpeI FoH R) [T STeT TOY

NPT JI: BT
@ e 58. dpyithm T2 I3 e 4 LOZTNRYRY, QeRT.

=%
R) VTFIT ) Q0PN BOBPTTR, 02 WIoWD
2) @ms%g 8) ©ToNndT photety
50. 33003 B2 IFne 4 LOITRER,, JeRT. D) BOI_LPIRm9d &) SQIV0T BTLOH

saommzmd 302 W30WO
A) 203 L3cweR ®) QIZOW
TP I WOROR I

50 dakiehs 38 B3 4 coggnes, Read

R) Y, 2) e 0T ToE, :36o:isaz:’»z:imgl 202 2WB0RD

) BW® Q) 3HoW Feem ARRT: FTRD

51. meRom® VR WIdwen ®) BT BRIOA Q) SHWH [0
Q) BO + Woxd Q) B+ Doxd (| &) TFHROoP TIE B) 303 IIWI

2) ©90%O), £ = B) B0 W woxd 60. FATYNSY mdoant BesT TTIR, M.
52. 3RYBRIBE TFNe 4 LOITRERYENERT. Q) TOTIL TNY ) 093 INS

zaomdsdsael 302 203000
) YTT ONY ®) 30 oNnY

;Ddac:%zsﬂ TT: RSRETWT

General English
D) PTVEIT Q) wRRReTILT
- 61. Each sentence given below contains an idiom /

R) BEIMTI B) TITMTI phrase from the given alternatives choose the one that

53. 333 wow ITBY & + = §, FOWRH best expresses the meaning of this idiom /phrase.

) BePICH FOCKOTIT Once in a blue moon

©) DEseodH FOKDTET a) Regularly b) Occasionally

%) ©BNerod BOETIT c) Rarely d) Not so regular

&) rordzess 62. Find out the correct figures of speech for a given
““ sentence

54. TTNE WTTRN WETT BRATTY, v QOTH .

BRI, The bag weighs a ton

D) OPs TIoPAH ) PIHITAD a) Simile b) Metaphor

2) ABFIOD TEND  B) 3o3PAZeqmOAD c) Personification d) Heperbole

55. ‘soq’ BYoh o DY gsso&mﬁd? 0 63. Choose the correct degrees of comparison in the
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given sentence.

Chetan is not older than praveen
a) Positive degree b) Comparative degree
c) Superlative degree  d) Type - 4 degree

64. In the following question, a sentence has been
given in active/passive voice. Out of the four-
alternative suggested, select the one which best
expresses the same sentence in passive/active voice.

The boy did not break the glass.

a) The glass was not broken by the boy.

b) The glass is not broken by the boy.

c) The glass had not been broken by the boy.
d) The glass has not been broken by the boy.

65. Each sentence given below contains an idiom /
phrase from the given alternatives choose the one that
best expresses the meaning of this idiom /phrase.

To smell a rat

a) Signs of plague epidemic b) Bad smell
c) Suspect foul dealings d) To ke in a mood

66. Choose the synonym of the following word

EFFLUENT
a) Decent b) Waste
c) Useful d) Effective

67. Choose the synonym of the following word
INDOLENT
a) Cautious b) Lazy

c) Unintelligent d) Stubborn

68. Choose the antonym of the following word
EXAGGERATED

a) Underwrote b) Condemned

d) Underestimated

c) Ignored

69. Choose the antonym of the following word

VITIATE
a) Weak b) Effective
c) Energize d) Cowardly

Q 70. Choose the synonym of the following word

MORBID
a) Sick b) Healthy
c) Calm d) Dearth

71. Choose the synonym of the following word

EFFIGY
a) Picture b) Movie
c) Image d) Characters

72. Choose the the answer which is opposite in the
meaning to the word underlined.

His attitude to poor peoplesis deplorable.

a) Commendable b\Measurable

c) Equitable d) Desirable

73 .Substitute appropriate word for the given
| statement.

One who work together:

a) Colleagues,. b) lllicit

c) Officers d) Members

74. Match the followings.

words antonyms
1) Smooth a. Prompt
2) Tardy b. Proud
3) Humble c. Hindrance
4) Asset d. Rough
1 2 3 4
a) A B C D
b) C A B D
c) C D A B
d) D A B C

75. Choose the correct faminine form in the given
options.
a) Actor : actress b) Benefactor : benefactrix

c) Negro : negross d) Priest : priestss

76. Fill the appropriate word in the given space

o
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If you do not , all your monthly expenses

would exceed your income.
a) Economise b) Spend
c) Save d) Splurge

77. Fill the appropriate word in the given space
He in this school since 2018.
a) Studied b) Was studying
c) Has been studying  d) Had studied

78. Which of the following sentence is a correct form
of direct speech/indirect speech.

He said, “you don’t know my language.”

a) He said that i didn’t know his language.
b) He told that i didn’t know his language.
c) He telling that i didn’t know his language.
d) He asked that i didn’t know his language.
79. The antonym of ‘candid’ is

a) Buff b) Devious
c) Equal d) Blunt

80. Fill the appropriate word'in the given space

He demands,of the workers for'salary hike were

with lot ‘of historical data for comparison.
a) Build up b) Backup

c) Backedup  d) Done up

Computer Literacy
81. #include <stdio.h>
int main()
{
float miles, kilometers;
printf(“Enter distance in Miles=");
scanf(“%f”, &miles);
kilometers = miles * 1.609;

printf(“%.2f Miles are equal to %.2f kilometers”,
miles,kilometers);

return 0;

o

O

the output of the above program
a) Enter distance in Miles b) Miles are equal to
c¢) Enter distance in kilometers d) Syntax error

82. #include <stdio.h>

int main() {

int numberl, number2, sum;

printf(“Enter two integers: “);

scanf(“%d %d”, &numberl, &number2);

// calculating sum

printf(“%d + %d = %d”;-aumberl, number2, sum);
return 0;

}

the output of the above program

a) Enter two integers  ¢b) calculating sum
c) numberl, number2) d) Syntax efrror
83.Abacus can perform
a) addition b) subtraction
¢) multiplication d) bothaandb

84. the technique that extends storage capacities
of main memory behind the actual size of the main

memory is called
a) multitasking b) virtual storage
¢) multiprocessing d) multiprogramming

85. how many bits are there in the Ethernet address?
a) 64 bits b) 48 bits
c) 32 bits d) 16 bits

86. which of the following items is not used in local
area networks (LAN’s)?
a) interface card b) cable
c) computer d) modem

87. Which of the following is not the member of class?
a) Static function b) Const function

¢) Friend function d) Virtual function

Mob:7795959079/ 8884334488 Telegram link :https://t.me/ujwalaacademyblr Instagram ID : ujwala.academy / ujwala_academy_blr

Page no:

9




- el &
B s, 1=

#1133/8, Service Road, Near Attiguppe Metro Station, RPC Layout, Vijayanagara,
Bangalore-560040
KPTCL =550 I3, Bg8 - 3

88. identify false statement with respect to computer. Q a) voice of internet power

a) You can find deleted files in recycle bin

b) You can restore any files in recycle bin if you ever
need

c) You can increase free space of disk by sending files in
recycle bin

d) You can right click and choose Empty Recycle Bin to
clean it at once

89. which key is used to close the active window?
a) Ctrl + F4 b) Ctrl + F5
c) Alt + F6 d) None of above

90. The shortcut key to open the task manager is
a)Alt + F1 b) Alt + Ctrl + Delete
c) Alt + Tab d) F1

91. what is the Turn Key system?
a) complete hardware and software
b) complete software

c) complete language

d) complete hardware

92. thefmethod\of internet access)that requires a
phone line, but offers faster access speeds that dial up

is the connection
a) cable access b) satellite'access
c) fibre optic service  d) digital subscriber line

93. what do we call a network whose elements may
be separated by some distance? it usually involves two
or more Network and dedicated high speed telephone
lines.

a) LAN b) WAN
c) URL d) Server

94. what is the full form of HTTP?
a) hypertext transfer protocol

b) hypertext transition protocol

c) hypertext transfer program

d) hypertext transition program

95. what is the full form of VolP?

o

b) voice over internet protocol
c) voice on internet protocol
d) very optimised internet protocol

96. if you are a loving a person on the network
based on the credentials to maintain the security of
your network then this act refers to the process of

a) authentication b) automation

c) firewall d) encryption

97. Which among the following is/ are interpreted
language?
a)C++ b)\Java
c) VisualBasic d)Bothb &

98. In the\following question, pick the choice that will
fill\the'gap perfectly:
Firefox: Mozilla
Mac: Apple
Windows: Microsoft
a) Unix: Bell Labs b) Android: Netware
¢) Windows: Vista d) Mac: safari

99. the fastest type of memory in the following list is
a) tape b) semiconductor memory
c) disk d) bubble memory

100. How to select all data from student table starting
the name from letter ‘r'?

a) SELECT * FROM student WHERE name LIKE ‘r%’;
b) SELECT * FROM student WHERE name LIKE ‘%r%’;
c) SELECT * FROM student WHERE name LIKE ‘%r’;

d) SELECT * FROM student WHERE name LIKE ‘_r%’;
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01 26 51 76
02 27 52 77
03 28 53 78
04 29 54 79
05 30 55 80
06 31 56 81
07 32 57 82
08 33 58 83
09 34 59 84
10 35 60 85
11 36 61 86
12 37 62 87
13 38 63 88
14 39 64 89
15 40 65 90
16 41 66 91
17 42 67 92
18 43 68 93
19 44 69 94
20 45 70 95
21 46 71 96
22 47 72 97
23 48 73 98
24 49 74 99
25 50 75 100
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